
12. cvičeńı
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1. Vyšetřete pr̊uběh funkce

(a) f(x) = e
arctan 1

x2−1

(b) f(x) =
3
√

3x2 − x3

(c) f(x) = arccos
2 lnx

1 + ln2 x

(d) f(x) =
|1 + x|

3
√
x

(e) f(x) =

√
x2

x3 + 1

(f) f(x) =
1

2
arccos (1− ln2 x)

2. Najděte derivaci (př́ıpadně jednostranné derivace) funkce

f(x) =

{
arctan (tan 2x), x ∈ R \ {π2 + kπ, k ∈ Z},
π
2 , x = π

2 + kπ, k ∈ Z

3. Vyšetřete konvergenci řady

∞∑
n=0

n+ 1

n+ 3

(
ln
n+ 3

n+ 1

)n
4. Spočtěte limitu

lim
x→0

(
2

π
arccos x

)cotx

5. Spočtěte limitu

lim
n→∞

(
1 +

1√
n4 + 2n3 −

√
n4 + 1

)n
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